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MASS INTERVIEWER IN PUBLIC HEALTH AND PREVENTIVE MEDICINE 
DEPARTMENT AND SOCIAL CASE WORK EXPERT IN PRISONS & CORRECTIONAL 

DEPARTMENT IN TAMIL NADU PUBLIC HEALTH SUBORDINATE SERVICE AND 
TAMIL NADU JAIL SUBORDINATE SERVICE – 9/12/2023 to 10/12/2023 

 
1. With none to console, tears of hapless citizens will 

a. ruin the country   b. kill human beings c. destroy the wealth 
d. reduce strength   e. Answer not known 
my;yw;gl;L Mw;whJ mOj fz;zPh; - vd;d nra;Ak;? 
a. ehl;il mopf;Fk;   b. kdpjid kha;f;Fk; c. nry;tj;ijj; Nja;f;Fk; 
d. typikia tPo;j;Jk;  e. tpil njhpatpy;iy 
 

2. Match the following 
Books     Special Titles 
A. Thirumurukatruppadai  1. Malaipadukadaam 
B. Kootharatrupadai  2. Nenjaatrupadai 
C. Agananooru   3. Pulavaraatrupadai 
D. Mullaipattu   4. Nedunthogai 
 A B C D 
a. 4 3 2 1 
b. 3 1 4 2 
c. 2 3 1 4 
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf. 
E}y;     rpwg;Gg;ngah; 
A. jpUKUfhw;Wg;gil  1. kiygLflhk; 
B. $j;juhw;Wg;gil   2. neQ;rhw;Wg;gil 
C. mfehD}W    3. Gytuhw;Wg;gil 
D. Ky;iyg;ghl;L   4. neLe;njhif 
 A B C D 
a. 4 3 2 1 
b. 3 1 4 2 
c. 2 3 1 4 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
 

3. Match the following 
A. Sirupanjamoolam  1. Epic Literature 
B. Kudumpa Vilakku  2. Sangam Literature 
C. Seevaga Sinthamani  3. Moral Literature 
D. The Kalitokai   4. Contemporary Literature 
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 A B C D 
a. 3 4 1 2 
b. 3 1 4 2 
c. 2 3 1 4 
d. 4 1 2 3 
e. Answer not known 
nghUj;jkhd tpiliaj; Njh;e;njL 
A. rpWgQ;r%yk;   1. fhg;gpa ,yf;fpak; 
B. FLk;g tpsf;F   2. rq;f ,yf;fpak; 
C. rPtf rpe;jhkzp   3. mw ,yf;fpak; 
D. fypj;njhif   4. jw;fhy ,yf;fpak; 
 A B C D 
a. 3 4 1 2 
b. 3 1 4 2 
c. 2 3 1 4 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

4. To what is the Humane Quality of person compared in Thirukkural as: “Maandhar 
Ullathin Uyarvu” 
a. Vellathanaiya Malar Neetam    b. Kadalin Anna Aazham 
c. Vanathalavu Uyarvu     d. Nilathai Pondra Parappu 
e. Answer not known 
jpUf;Fwspy; “khe;jhpd; cs;sj;J cah;T” vjNdhL xg;gplg;gLfpwJ? 
a. nts;sj;jida kyh; ePl;lk;    b. flypd; md;d Mok; 
c. thdj;jsT cah;T     d. epyj;ijg; Nghd;w gug;G 
e. tpil njhpatpy;iy 
 

5. Choose the correct answer 
1. Pagalvellum Kookaiyai Kakkai 
2. Nedum Punalul Vellum Mudhalai 
3. Peelipei Sagadum Achchirum 
4. Kaalal Kalarin Nariyadum 
a. 1 and 2 Kaalam Arithal; 3-Idam Arithal; 4-Valiyarithal 
b. 1-Kaalam Arithal; 2 and 4-Idam Arithal; 3-Valiyarithal 
c. 1-Kaalam Arithal; 2 and 3-Idam Arithal; 4-Valiyarithal 
d. 1 and 4 Kaalam Arithal; 2-Idam Arithal; 3-Valiyarithal 
e. Answer not known 
fPo;f;fhZk; $w;Wf;Fhpa rhpahd tpiliaj; Njh;enjLf;fTk;. 
1. gfy;nty;Yk; $ifiaf; fhf;if 
2. neLk; GdYs; nty;Yk; Kjiy 
3. gPypnga; rhfhLk; mr;rpWk; 
4. fhyho; fshpd; ehpaLk; 
a. 1 kw;Wk; 2 fhyk; mwpjy;> 3-,lk; mwpjy;> 4-typ mwpjy; 
b. 1-fhyk; mwpjy;> 2 kw;Wk; 4-,lk; mwpjy;. 3-typ mwpjy; 
c. 1-fhyk; mwpjy;> 2 kw;Wk; 3-,lk; mwpjy;> 4-typ mwpjy; 
d. 1 kw;Wk; 4 fhyk; mwpjy;> 2-,lk; mwpjy;> 3-typ mwpjy; 
e. tpil njhpatpy;iy 
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6. How did Seethalai Sathanaar say to Ilango Adigal after he had narrated the story of 
Kovalan and Kannagi? 
a. Neerae Adigal Aruluga     b. Aruluga Adigal Neerae 
c. Neerae Aruluga Adigal     d. Adigal Neerae Aruluga 
e. Answer not known 
Nfhtyd; fz;zfp fijiaf; $wpa rPj;jiyr; rhj;jdhh; ,sq;Nfhtbfsplk; vk;Kiwapy; 
$wpdhh;? 
a. ePNu mbfs; mUSf    b. mUSf mbfs; ePNu 
c. ePNu mUSf mbfs;    d. mbfs; ePNu mUSf 
e. tpil njhpatpy;iy 
 

7. “It is an indubitable fact that the South Indian Brahmi epigraphs are all associated with 
the Buddhists… Little wonder therefore that the inscriptions are dominated by Prakrit 
element.” Who said this? 
a. Dr. K.A. Nilakanta Sastri   b. Dr. N.P. Chakravarti 
c. Dr. K.K. Pillay     d. Dr. T.V. Mahalingam 
e. Answer not known 
“njd;dpe;jpa gpuhkp fy;ntl;Lfs; vy;yhk; re;Njfg;gl Kbahj mstpw;F ngsj;jh;fNshL 
njhlh;Gilait vd;gNj cz;ikahFk;… mg;gbahapd; gpuhf;Uj mbg;gilf; 
nfhs;iffNs fy;tntl;baypy; NfhNyhr;rpd; vd;why; Mr;rhpag;gl xd;Wkpy;iy” ,J 
ahUila $w;W? 
a. Kidth; K.A. ePyfz;l rh];jphp  b. Kidth; N.P. rf;futh;j;jp 
c. Kidth; K.K. gps;is    d. Kidth; T.V. k`hypq;fk; 
e. tpil njhpatpy;iy 
 

8. Which book is referred to as ‘Porutkalavai Nool’? 
a. Padhitrupathu  b. Natrinai   c. Iyngurunooru 
d. Paripaadal  e. Answer not known 
nghUl;fyit E}y; vd;W miof;fg;gLk; E}y; vJ? 
a. gjpw;Wg;gj;J  b. ew;wpiz   c. Iq;FWE}W 
d. ghpghly;   e. tpil njhpatpy;iy 
 

9. How many chapters are there in the section of virtue in Thirukkural (Arathupal)? 
a. 38  b. 48  c. 58  d. 68  e. Answer not known 
jpUf;Fws; - mwj;Jg; ghypy; cs;s mjpfhuq;fspd; vz;zpf;if vj;jid? 
a. 38  b. 48  c. 58  d. 68  e. tpil njhpatpy;iy 
 

10. Which novel of Jeyaganthan is centered on Oedipus Complex? 
a. Sila Nerangalil Sila Manithargal   b. Valkai Alaikirathu 
c. Rishimoolam      d. Samugam Yenbathu Naaluper 
e. Answer not known 
,bg]; csr;rpf;fiy (Oedipus Complex) ikakhff; nfhz;L n[afhe;jd; vOjpa ehty; 
vJ? 
a. rpyNeuq;fspy; rpykdpjh;fs;    b. tho;f;if miof;fpwJ 
c. hp~p%yk;       d. r%fk; vd;gJ ehYNgh; 
e. tpil njhpatpy;iy 
 

11. Why did the Queen Hazrat Mahal Begum of Lucknow fight against the British? 
a. Refused to pay tax to the British   b. Against the Doctrine of Lapse 

c. Against the Revenue Policy    d. To expel the British 
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e. Answer not known 
yf;Ndhtpd; uhzp `];uj; k`y; Ngfk; gphpl;b~hiu vjph;j;jJ Vd;? 
a. gphpl;b~hUf;F thp fl;l kWj;J   b. mtfhrpapyp nfhs;ifia vjph;j;J 
c. tUtha; nfhs;ifia vjph;j;J   d. gphpl;b~hiu ntspNaw;w 
e. tpil njhpatpy;iy 
 

12. Match correctly the Authors with their works 
(i) E.V.R Periyar   1.  Kamalambal Charithiram 
(ii) C.N. Annadurai   2. Padmavathi Charithiram 
(iii) Madavaiya   3. Kudiyarasu 
(iv) Rajam Aiyar   4. Velaikkari 
 (i) (ii) (iii) (iv) 
a. 2 3 4 1 
b. 1 2 3 4 
c. 3 2 1 4 
d. 3 4 2 1 
e. Answer not known 
E}y; Mrphpah;fis mjd; gilg;GfSld; rhpahf nghUj;Jf. 
(i) <.Nt.uh. nghpahh;   1. fkyhk;ghs; rhpj;jpuk; 
(ii) rp.vd; mz;zhJiu  2. gj;khtjp rhpj;jpuk; 
(iii) khjta;ah   3. FbauR 
(iv) uh[k; ma;ah;   4. Ntiyf;fhhp 

(i) (ii) (iii) (iv) 
a. 2 3 4 1 
b. 1 2 3 4 
c. 3 2 1 4 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

13. When and where Periyar came out of congress and stated the Salt Respect Movement? 
a. Kanchipuram  1925 
b. Chengalpet  1929 
c. Erode   1930 
d. Viruthunagar  1937 
e. Answer not known 
vq;Nf? vg;NghJ nghpahh; fhq;fpu]; fl;rpia tpl;L ntspNawp Rakhpahij ,af;fj;ij 
Muk;gpj;jhh; 
a. fhQ;rpGuk;   1925 
b. nrq;fy;gl;L  1929 
c. <NuhL   1930 
d. tpUJefh;   1937 
e. tpil njhpatpy;iy 
 

14. Where did the Brahmi inscription mentioning musical svaras belong to the 2nd century 
A.D. has been discovered? 
a. Arachalur    b. Arikkamedu  c. Adichanallur 
d. Vangiri    e. Answer not known 
fp.gp. ,uz;lhk; E}w;whz;ilr; Nrh;e;j ,ir ];tuq;fs; mlq;fpa gpuhkp fy;ntl;L vq;F 
fz;Lgpbf;fg;gl;lJ? 
a. mur;rY}h;    b. mhpf;fNkL   c. Mjpr;rey;Y}h; 
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d. tdfphp    e. tpil njhpatpy;iy 
 

15. Which one is not matching correctly? 
(i) Kurinji  - Punarthal 
(ii) Mullai  - Iruthal 
(iii) Marudam - Udal 
(iv) Neydal  - Pirithal 
a. (i) only   b. (ii) only   c. (iii) only 
d. (iv) only   e. Answer not known 
fPo;f;fz;ltw;wpy; vJ rhpahf nghUe;jtpy;iy 
(i) FwpQ;rp  - Gzh;jy; 
(ii) Ky;iy  - ,Uj;jy; 
(iii) kUjk;  - Cly; 
(iv) nea;jy;  - gphpjy; 
a. (i) kl;Lk;   b. (ii) kl;Lk;   c. (iii) kl;Lk; 
d. (iv) kl;Lk;   e. tpil njhpatpy;iy 
 

16. Consider the following statement about Learning Enhancement Programme’s methods 
(i) English Tamil Picture Dictionary 
(ii) Teacher Geometry Box 
(iii) Story DVD 
(iv) Twinning of Schools 
a. (i), (ii)    b. (i), (ii) and (iii)  c. (i), (ii) and (iv) 
d. (i), (iii) and (iv)   e. Answer not known 
fw;wy; Nkk;ghl;Lj; jpl;l Kiwfs; njhlh;ghd fPo;f;fz;l $w;Wfisf; ftdpf;fTk; 
(i) Mq;fpyk; jkpo; rpj;jpu mfuhjp 
(ii) Mrphpah; tbtpay; ngl;b 
(iii) vz;zpay; xspf;fhl;rp jl;L tbtpyhd fijfs; 
(iv) gs;spfSf;fpilapyhd $l;L 
a. (i), (ii)    b. (i), (ii) kw;Wk; (iii)  c. (i), (ii) kw;Wk; (iv) 
d. (i), (iii) kw;Wk; (iv)   e. tpil njhpatpy;iy 
 

17. Name the Award to the Boys and Girls who secure the first and second rank in the 12th 
Public examination in each district 
a. Peraringar Anna Memorial Award b. M.G. Ramachandran Memorial Award 
c. M. Karunanithi Memorial Award d. J. Jeyalalitha Memorial Award 
e. Answer not known 
12k; tFg;G nghJj;Njh;tpy;> xt;nthU khtl;l mstpy; Kjy; kw;Wk; ,uz;lhk; ,lk; 
gpbf;Fk; khzt> khztpfSf;F toq;fg;gLk; tpUJ 
a. NguwpQh; mz;zh epidT tpUJ  b. M.G. uhkr;re;jpud; epidT tpUJ 
c. M. fUzhepjp epidT tpUJ   d. J. n[ayypjh epidT tpUJ 
e. tpil njhpatpy;iy 
 

18. Chennai is the ____ largest electronic hardware manufacturing hub in India. 
a. First  b. Second c. Third d. Fourth e. Answer not known 
,e;jpahtpd; _____ nghpa kpd;dZ td;nghUs; cw;gj;jp ikakhf nrd;id tpsq;FfpwJ. 
a. KjyhtJ   b. ,uz;lhtJ   c. %d;whtJ 
d. ehd;fhtJ   e. tpil njhpatpy;iy 
 

19. Tamilnadu e-governance Agency has been registered under ______. 
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a. Right to Information Act     b. Right to Education Act 
c. Societies Act      d. Companies Act 
e. Answer not known 
jkpo;ehL kpd;-eph;thf epWtdk; _____ fPo; gjpT nra;ag;gl;Ls;sJ. 
a. jfty; ngWk; chpikr;rl;lk;    b. fy;tp chpikr;rl;lk; 
c. r%f rl;lk;      d. epWtdr; rl;lk; 
e. tpil njhpatpy;iy 
 

20. Match the following: 
As per the 2011 census, the juvenile sex ratio in the following districts are lower than the 
state average (943) 
(i) Namakkal   1. 916 
(ii) Cuddalore  2. 914 
(iii) Salem   3. 891 
(iv) Ariyalur   4. 896 
 (i) (ii) (iii) (iv) 
a. 2 4 1 3 
b. 1 3 2 4 
c. 4 1 3 2 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf. 
2011 kf;fs; njhif fzf;nfLg;gpd;gb gpd;tUk; khtl;lq;fspy; rpwhh; ghypd tpfpjk; 
khepyr; ruhrhpia tpl Fiwthf cs;sJ (943) 
(i) ehkf;fy;   1. 916 
(ii) flY}h;   2. 914 
(iii) Nryk;   3. 891 
(iv) mhpaY}h;   4. 896 
 (i) (ii) (iii) (iv) 
a. 2 4 1 3 
b. 1 3 2 4 
c. 4 1 3 2 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

21. The first women driver who appointed for 108 Ambulance Van for the first time in the 
country 
a. Tmt. Jeyalakshmi   b. Tmt. Mahalakshmi c. Tmt. Veeralakshmi 
d. Tmt. Muthulakshmi  e. Answer not known 
108 mtru kUj;Jt Ch;jpf;F ehl;bNyNa Kjyhtjhf epakpf;fg;gl;l ngz; Xl;Leh; ahh;? 
a. jpUkjp. n[ayl;Rkp  b. jpUkjp. kfhyl;Rkp c. jpUkjp. tPuyl;Rkp 
d. jpUkjp. Kj;Jyl;Rkp  e. tpil njhpatpy;iy 
 

22. The Kothari Commission (1964-66) suggested the following objectives for reforms in 
education 
(i) Employability of education 
(ii) Achieve Social and National Integration 
(iii) Accelerate the process of modernization 
(iv) Cultivate social, moral and spiritual values 
Which of the above are correct? 
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a. (i), (iii), (iv)  b. (ii), (iii), (iv)  c. (i), (ii), (iv) 
d. (i), (ii), (iii)   e. Answer not known 
fy;tpapy; rPh;jpUj;jq;fSf;fhd gpd;tUk; Nehf;fq;fis Nfhj;jhp Mizak; (1964-66) gjpT 
nra;jJ. 
(i) Ntiytha;g;gpw;fhd fy;tp 
(ii) r%f kw;Wk; Njrpa xUq;fpizg;ig miljy; 
(iii) etPdkakhf;fy; nray;Kiwfis Jhpjg;gLj;Jjy; 
(iv) r%f> jhh;kPf kw;Wk; Md;kpf kjpg;gPLfis tsh;g;gJ 
Nkw;fz;ltw;wpy; vit rhpahdit?  
a. (i), (iii), (iv)  b. (ii), (iii), (iv)  c. (i), (ii), (iv) 
d. (i), (ii), (iii)   e. tpil njhpatpy;iy 
 

23. 2019, Sahitya Akademi Award was won by Cho Dharman for his book ____ which talks 
about the importance of ____. 
a. Sool, ‘Water bodies’    
b. Koogai, ‘Caste less ness society’ 
c. Dhoorvai, ‘Modernization and industrialization impact’ 
d. Marundhu, ‘Story teller’s feeling’ 
e. Answer not known 
Nrh jh;kdpd; ______ E}y;> _____ apd; Kf;fpaj;Jtk; gw;wp NgrpaJ> me;E}ypw;fhf mth; 2019 
Mk; Mz;bd; rhfpj;a mfhlkp tpUjpid ntd;whh;. 
a. #y;> ‘ePh;epiyfs;’ 
b. $if> ‘rhjp mw;w r%fk;’ 
c. J}h;it> ‘etPdk;> njhopy;kakhjypd; jhf;fk;’ 
d. kUe;J> ‘fij nrhy;ypapd; czh;Tfs;’ 
e. tpil njhpatpy;iy 
 

24. Jai Shakthi Abiyan launched with the objectives: 
(i) to capture rain water 
(ii) to enhance the quality of school education 
(iii) to extend the creamy norms to economic backwardness 
(iv) for building recharge wells 
(v) to include the excluded 
(vi) to increase the enrollment ratio 
a. (ii), (vi) correct    b. (i), (iv) correct  c. (iii), (v) correct 
d. (ii), (v), (vi) correct  e. Answer not known 
n[a; rf;jp mgpad; njhlq;fg;gl;l Fwpf;Nfhs;fs; 
(i) kio ePh; Nrfhpg;G 
(ii) gs;sp fy;tpapd; juj;jpid Nkk;gLj;j 
(iii) fphPkp tpjpKiwfis nghUshjhu gpd;jq;fpa epiyf;F tphpTgLj;Jjy; 
(iv) kPs;epug;G fpzWfs; fl;Ljy; 
(v) tpsf;fg;gl;lth;fisAk; Nrh;f;f Ntz;Lk; 
(vi) khzth; Nrh;f;if tpfpjj;ij mjpfhpf;f 
a. (ii), (vi) rhp   b. (i), (iv) rhp   c. (iii), (v) rhp 
d. (ii), (v), (vi) rhp  e. tpil njhpatpy;iy 
 

25. Select the variable which is not included in the calculation of composite HDI in UNDP: 
a. Adjusted real GDP per capita (PPP)  b. A deprivation index 
c. Life expectancy index    d. Educational attainment index 
e. Answer not known 
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If;fpa ehLfs; tsh;r;rp jpl;lj;jpd; (UNDP) xUq;fpize;j kdpjts Nkk;ghl;Lf; FwpaPL 
(Composite HDI) fzf;fPl;by; Nrh;f;fg;glhj khwpypia Njh;T nra;f. 
a. rhpnra;ag;gl;l cz;ik nkhj;j cs;ehl;L jyh cw;gj;jp (PPP) thq;Fjwpd; rkepiy 
b. (Nkhrb) ,og;G FwpaPL 
c. MAs; vjph;ghh;g;G FwpaPL 
d. fy;tp miljy; FwpaPL 
e. tpil njhpatpy;iy 
 

26. If 1 + 2 + 3 + … + k = 325 then find the value of 13 + 23 + 33 + …+ k3 
a. 103425 b. 105605 c. 105625 d. 106625 e. Answer not known 
1 + 2 + 3 + … + k = 325 vdpy; 13 + 23 + 33 + …+ k3 ,d; kjpg;G fhz;f? 
a. 103425 b. 105605 c. 105625 d. 106625 e. tpil njhpatpy;iy 
 

27. In a flower bed, there are 23 rose plants in the first row, 21 in the second, 19 in the third, 
and so on. There are 5 rose plants in the last row. How many rows are there in the flower 
bed? 
a. 10  b. 12  c. 13  d. 15  e. Answer not known 
xU kyh; gLf;ifapy;> Kjy; thpirapy; 23 Nuh[hg;G+ nrbfSk;> 2 tJ thpirapy; 21k;> 3 
tJ thpirapy; 19 k;> filrp thpirapy; 5 G+r;nrbfSk; cs;sd vdpy; nkhj;j thpirfspd; 
vz;zpf;if vt;tsT? 
a. 10  b. 12  c. 13  d. 15  e. tpil njhpatpy;iy 

 
28. Find x such that 3x+2 = 3x + 216 

a. 3  b. 4  c. 5  d. 6  e. Answer not known 
x-d; kjpg;G fhz;f: 3x+2 = 3x + 216 
a. 3  b. 4  c. 5  d. 6  e. tpil njhpatpy;iy 
 

29. Arrange the digits of each of the given numbers in ascending order and find the smallest. 
435, 876, 923, 574 
a. 435  b. 876  c. 923  d. 574  e. Answer not known 
nfhLf;fg;gl;Ls;s vz;fspd; ,yf;fq;fis VWthpirapy; mikj;J mtw;wpy; rpwpa 
vz;iz fhz;f. 
a. 435  b. 876  c. 923  d. 574  e. tpil njhpatpy;iy 
 

30. The algebraic statement for 5 less to 2 times ‘p’ 
a. 5p – 2  b. 2p – 5   c. 2 – 5p 
d. 5 – 2p  e. Answer not known 
‘p’ d; 2 klq;fpy; 5 FiwT vd;gjw;fhd ,aw;fzpj $w;W. 
a. 5p – 2  b. 2p – 5   c. 2 – 5p 
d. 5 – 2p  e. tpil njhpatpy;iy 
 

31. In a survey of university students 64 had taken mathematics course, 94 had taken 
computer science course, 28 had the mathematics and physics, 26 had taken mathematics 
and computer science, 22 had taken computer science and physics course and 14 had 
taken all the three courses. Then the number of students who had taken one course only 
is 
a. 216  b. 154  c. 140  d. 106  e. Answer not known 
gy;fiyf;fof khzth;fspd; fzf;nfLg;gpy; 64 Ngh; fzpjk;> 94 Ngh; fzpg;nghwp mwptpay;> 
58 Ngh; ,aw;gpay; Mfpa ghlq;fisf; fw;fpd;wdh;. 28 Ngh; fzpjKk; ,aw;gpaYk;> 26 Ngh; 
fzpjKk; fzpg;nghwp mwptpaYk; 22 Ngh; fzpg;nghwp mwptpaYk; ,aw;gpaYk; kw;Wk; 14 
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Ngh; %d;W ghlq;fisAk; fw;fpd;wdh;. fzf;nfLg;gpy; fye;Jf; nfhz;l khzth;fspy; xU 
ghlj;ij kl;Lk; fw;fpd;w khzth;fspd; vz;zpf;if ______ MFk;. 
a. 216  b. 154  c. 140  d. 106  e. tpil njhpatpy;iy 
 

32. Two coins are tossed together. What is the probability of getting different faces on the 
coins? 
a. 1/2  b. 1/6  c. 2/3  d. 1/3  e. Answer not known 
,uz;L ehzaq;fs; xd;whf Rz;lg;gLk; nghOJ ,uz;bYk; ntt;NtW Kfq;fs; fpilf;f 
epfo;jfT fhz;. 
a. 1/2  b. 1/6  c. 2/3  d. 1/3  e. tpil njhpatpy;iy 

 
33. In class VIII, a math club has four members M, A, T and H. Find the number of different 

ways, the club can elect. 
(i) A leader 
(ii) A leader and an assistant leader 
a. 12, 8 b. 4, 12 c. 4, 16  d. 12, 4 e. Answer not known 
vl;lhk; tFg;gpy; cs;s xU fzpj kd;wj;jpy; M, A, T kw;Wk; H vd;w ehd;F cWg;gpdh;fs; 
cs;sdh; vdpy; fPo;tUk; tpdhf;fSf;F tpilaspf;fTk;. 
(i) fzpj kd;wj; jiytiu Njh;e;njLg;gjw;fhd tha;g;Gfs; ahit? 
(ii) fzpj kd;wj;jiyth; kw;Wk; cgjiytiuj; Njh;e;njLg;gjw;fhd tha;g;Gfs; ahit? 
a. 12, 8 b. 4, 12 c. 4, 16  d. 12, 4 e. tpil njhpatpy;iy 
 

34. If 30 men can reap a field in 15 days, then in how many days can 20 men reap the same 
field? 
a. 10  b. 12  c. 15  d. 22.5  e. Answer not known 
30 egh;fs; xU taiy 15 ehl;fspy; mWtil nra;fpwhh;fs; vdpy; 20 egh;fs; vj;jid 
ehl;fspy; mt;taiy mWtil nra;thh;fs;? 
a. 10  b. 12  c. 15  d. 22.5  e. tpil njhpatpy;iy 
 

35. 60 workers can spin a bale of cotton in 7 days. In how many days will 42 workers spin it? 
a. 10  b. 15  c. 20  d. 25  e. Answer not known 
60 Ngh; xU %l;il gUj;jpia 7 ehl;fspy; Rw;w KbAk;. mNj Ntiyia 42 Ngh; vj;jid 
ehl;fspy; Rw;w KbAk;? 
a. 10  b. 15  c. 20  d. 25  e. tpil njhpatpy;iy 
 

36. X, Y and Z can do a piece of job in 4, 6 and 10 days respectively. If X, Y and Z work 
together to complete, then find their separate shares if they will be paid Rs. 3,100 for 
completing the job. 
a. 1000 : 1500 : 600   b. 1500 : 600 : 1000  c. 1500 : 1000 : 600 
d. 600 : 1000 : 1500   e. Answer not known 
X, Y kw;Wk; Z MfpNahh; xU Ntiyia KiwNa 4, 6, 10 ehl;fspy; Kbg;gh;. X, Y kw;Wk; Z 
Mfpa %tUk; xd;W Nrh;e;J me;j Ntiyia Kbj;jhy;> mjw;fhf mth;fSf;F Rs. 3>100 
toq;fg;gLk; vdpy; mth;fs; jdpj;jdpNa ngWk; gq;Ffisf; fhz;f. 
a. 1000 : 1500 : 600   b. 1500 : 600 : 1000  c. 1500 : 1000 : 600 
d. 600 : 1000 : 1500   e. tpil njhpatpy;iy 
 

37. The volume of cylinder is 448  cubic. c.m. and the height is 7 cm. Find its lateral surface 
area? 
a. 352  c.m2   b. 112  c.m2   c. 128  c.m2 

d. 240  c.m2   e. Answer not known 



 

10 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

xU cUisapd; fdmsT 448 f.nr.kP mjd; cauk; 7 nr.kP. vdpy; cUisapd; 
tisgug;G fhz;f. 
a. 352 nr.kP 2  b. 112 nr.kP 2  c. 128 nr.kP 2 

d. 240 nr.kP 2  e. tpil njhpatpy;iy 
 

38. Find the volume of a cylinder whose height is 2 m and whose base area is 250 m2 
a. 300 m3 b. 250 m3 c. 500 m3 d. 400 m3 e. Answer not known 
cauk; 2 kP kw;Wk; mbg;gug;G 250 r.kP. nfhz;l Xh; cUisapd; fdmsitf; fhz;f. 
a. 300 f.kP.3 b. 250 f.kP.3 c. 500 f.kP.3 d. 400 f.kP.3 e. tpil njhpatpy;iy 
 

39. The present height of a tree is 847 cm. Find its height two years ago if it is increase at 10% 
p.a. 
a. 400 cm b. 800 cm c. 500 cm d. 700 cm e. Answer not known 
Xh; kuj;jpd; jw;Nghija cauk; 847 nr.kP. mJ Mz;Lf;F 10% tPjk; tsh;fpwJ vdpy; 2 
Mz;LfSf;F Kd; mjd; cauk; vd;d? 
a. 400 nr.kP. b. 800 nr.kP. c. 500 nr.kP. d. 700 nr.kP. e. tpil njhpatpy;iy 
 

40. Find the rate of compound interest at which a principal becomes 1.69 times itself in 2 
years? 
a. 69%  b. 60%  c. 30%  d. 3%  e. Answer not known 
Xh; mryhdJ $l;L tl;b Kiwapy; 2 Mz;Lfspy; mijg;Nghd;W 1.69 klq;F MfpwJ 
vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 69%  b. 60%  c. 30%  d. 3%  e. tpil njhpatpy;iy 
 

41. What will be the simple interest earned on an amount of Rs. 16,800 in 9 months at the rate 

of 6
1

4
% p.a.? 

a. Rs. 787.50   b. Rs. 812.50    c. Rs. 860  
d. Rs. 887.50   e. Answer not known 

Rs. 16>800 njhiff;F Mz;bw;F 6
1

4
% tl;b tPjk; 9 khjq;fSf;fhd jdptl;b ahJ? 

a. Rs. 787.50   b. Rs. 812.50    c. Rs. 860  
d. Rs. 887.50   e. tpil njhpatpy;iy 
 

42. In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum? 

a. 3
𝟏

𝟑
 years   b. 3 years    c. 2

1

2
 years 

d. 2 years   e. Answer not known 
vj;jid Mz;Lfspy; Rs. 5>600 Mz;Lf;F 6% jdptl;b tPjj;jpy; Rs. 6>720 Mf caUk;. 

a. 3
𝟏

𝟑
 years   b. 3 years    c. 2

1

2
 years 

d. 2 years   e. tpil njhpatpy;iy 
 

43. An aircraft can accommodate 280 people in 2 trips. It can take ____ trips to take 1400 
people. 
a. 8  b. 10  c. 9  d. 12  e. Answer not known 
280 egh;fs; xU tpkhdj;jpy; 2 Kiw gazk; nra;fpd;wdh; vdpy; mt;tpkhdj;jpy; 1400 
egh;fs; ____ Kiw gazk; nra;ayhk;. 
a. 8  b. 10  c. 9  d. 12  e. tpil njhpatpy;iy 
 

44. A farmer has enough food for 144 ducks for 28 days. If he sells 32 ducks, how long will 
the food last? 
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a. 36  b. 72  c. 38  d. 27  e. Answer not known 
xU tptrhaplk; 144 thj;Jf;fSf;F 28 ehl;fSf;Fj; Njitahd czT cs;sJ. mth; 
32 thj;Jfis tpw;Wtpl;lhh;. vdpy; mthplk; cs;s czT kPjKs;s vj;jid ehl;fSf;Fg; 
NghJkhdjhf ,Uf;Fk;? 
a. 36  b. 72  c. 38  d. 27  e. tpil njhpatpy;iy 
 

45. LCM of x3+1,x2-1,(x+1)2 
a. (x+1)2   b. (x-1)(x2+x+1)  c. (x+1)2 (x-1)2 (x2-x+1) 
d. (x+1)2 (x-1)(x2-x+1) e. Answer not known 
x3+1,x2-1,(x+1)2 ,tw;wpd; kP.ngh.k. d; kjpg;G 
a. (x+1)2   b. (x-1)(x2+x+1)  c. (x+1)2 (x-1)2 (x2-x+1) 
d. (x+1)2 (x-1)(x2-x+1) e. tpil njhpatpy;iy 
 

46. The H.C.F. of two numbers is 8. Which one of the following can never be their LCM. 
a. 24  b. 48  c. 56  d. 60  e. Answer not known 
,U vz;fspd; kP.ngh.t (H.C.F) 8 vdpy; gpd;tUk; vz;fspy; vJ mt;tpU vz;fspd; 
kP.ngh.k (LCM) Mf ,Uf;f KbahJ. 
a. 24  b. 48  c. 56  d. 60  e. tpil njhpatpy;iy 
 

47. Find the highest common factor (HCF) 16x3y2, 24xy3z. 
a. 24xy3z b. 48xy2 c. 16xy2z d. 8xy2 e. Answer not known 
kPg;ngU nghJ tF vz; (kP.ngh.t) fhz;f 16x3y2, 24xy3z. 
a. 24xy3z b. 48xy2 c. 16xy2z d. 8xy2 e. tpil njhpatpy;iy 
 

48. Find the HCF of 396, 504, 636. 
a. 1  b. 6  c. 12  d. 24  e. Answer not known 
396, 504, 636 ,d; kP.ngh.t fhz;f. 
a. 1  b. 6  c. 12  d. 24  e. tpil njhpatpy;iy 
 

49. A cloth shrinks 0.5% when washed what fraction is this? 

a. 
1

5
  b. 

1

20
  c. 

1

50
  d. 

𝟏

𝟐𝟎𝟎
  e. Answer not known 

xU Jzp ryit nra;ag;gLk;NghJ 0.5% RUq;FfpwJ vdpy; ,jid gpd;dj;jpy; Fwpg;gpLf. 

a. 
1

5
  b. 

1

20
  c. 

1

50
  d. 

𝟏

𝟐𝟎𝟎
  e. tpil njhpatpy;iy 

 

50. Find the value of 27 12+ . 

a. 39  b. 5 6  c. 5 3   d. 3 5  e. Answer not known 

kjpg;G fhz; : 27 12+ . 

a. 39  b. 5 6  c. 5 3   d. 3 5  e. tpil njhpatpy;iy 

 
51. Which among the following chemical is mixed with LPG (Liquifies Petroleum Gas) in 

LPG cylinders? 
a. Sulphur dioxide   b. Ethyl Mercaptan  c. Mercapto ethanol 
d. Nitrogen dioxide   e. Answer not known 
gpd;tUtdtw;Ws; ve;j Ntjpg; nghUshdJ rikay; vhpthA (LPG) cUisfspy; 
milf;fg;gLk; vhpthAtpy; Nrh;f;fg;gLfpd;wJ? 
a. fe;jf il Mf;i]L  b. vj;jpy; nkh;fhg;ld; c. nkh;fhg;Nlh vj;jdhy; 
d. iel;u[d; il Mf;i]L e. tpil njhpatpy;iy 
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52. Assertion [A]: Atmospheric turbulence is characterised by different size eddies. 
Reason [R]:  Eddies are primarily responsible for diluting and transporting the 
pollutants injected into the atmosphere. 
a. Both [A] and [R] are true, and [R] is the correct explanation of [A] 
b. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
c. [A] is true, but [R] is false 
d. [A] is false but [R] is true 
e. Answer not known 
$w;W [A]: tspkz;lyr; Row;rp gy;NtW msTfspdhy; Md fhw;Wr;Ropfshy; 
   tifg;gLj;jg;gLk;. 
fhuzk; [R]: tspkz;lyj;jpy; khRf;fisf; fiug;gjpYk; flj;JtjpYk; tspkz;lyf; 
   fhw;Wr; Ropfs; Kjd;ikg; gq;F tFf;fpd;wd. 
a. [A] kw;Wk; [R] ,uz;Lk; rhp; NkYk; [R] vd;gJ [A]-tpw;fhd rhpahd tpsf;fkhFk;. 
b. [A] kw;Wk; [R] ,uz;Lk; rhp; Mdhy; [A] vd;gJ [A]-tpw;fhd rhpahd tpsf;fky;y 
c. [A] rhp; Mdhy; [R] jtW 
d. [A] jtW> Mdhy; [R] rhp 
 e. tpil njhpatpy;iy 

 
53. The lowest category in Taxonomic hierarchy is 

a. Kingdom   b. Family    c. Genus 
d. Species   e. Answer not known 
tifg;ghl;baypd; gbepiyapy; fPo;epiyapy; cs;s myF ahJ? 
a. cyfk;   b. FLk;gk;    c. Nghpdk; 
d. rpw;wpdk;   e. tpil njhpatpy;iy 

 
54. Kala azar is caused by 

a. Leishmania tropica    b. Leishmania donovani 
c. Leishmania brasiliensis    d. Trypanosoma cruzi 
e. Answer not known 
fhyh mrhh;/fUq;fha;r;ry; fPo;fz;ltw;Ws; vtw;why; cz;lhfpd;wJ? 
a. yP];Nkdpah l;uhgpfh    b. yP];Nkdpah Nlhdhthdp 
c. yP];Nkdpah gpNurpypad;]p];   d. l;hpg;NdhNrhkh FUrp 
e. tpil njhpatpy;iy 

 
55. Which one of the following is not a Lewis acid? 

a. BF3  b. NH3 c. AlCl3 d. BH3  e. Answer not known 
gpd;tUtdtw;wpy; vJ Y}ap]; mkpyk; ,y;iy? 
a. BF3  b. NH3 c. AlCl3 d. BH3  e. tpil njhpatpy;iy 

 
56. Assertion [A]: A good fertilizer should be basic. 

Reason [R]:  Slightly basic soil is must for proper growth of plants. 
a. [A] is false; [R] is true 
b. [A] is true; [R] is true 
c. [A] is true; [R] is false 
d. Both [A] and [R] are false  
e. Answer not known 
$w;W [A]: ey;y cuk; fhuj;jd;ik nfhz;ljhf ,Uf;f Ntz;Lk;. 
fhuzk; [R]: rpwpJ fhuj;jd;ik nfhz;l kz;> jhtuq;fspd; tsh;r;rpf;Ff; fl;lhak; Njit. 
a. [A] vd;gJ jtW [R] vd;gJ rhp 
b. [A] vd;gJ rhp [R] vd;gJ rhp 
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c. [A] vd;gJ rhp [R] vd;gJ jtW 
d. [A] kw;Wk; [R] ,uz;Lk; jtW 
e. tpil njhpatpy;iy 

 
57. A man ate 100 grapes in 5 days. Each day he ate 6 more grapes than those he ate on the 

earlier days. How many grapes did he eat on the first day? 
a. 8  b. 12  c. 54  d. 76  e. Answer not known 
xU kdpjd; 5 ehl;fspd; 100 jpuhl;irfis rhg;gpl;lhd;. xt;nthu ehSk; mtd; Ke;ija 
ehl;fspy; rhg;gpl;lij tpl 6 jpuhl;irfisf; $Ljyhf rhg;gpLtjhf itj;Jf;nfhz;lhy;> 
Kjy; ehspy; vj;jid jpuhl;irfisr; rhg;gpl;lhd;? 
a. 8  b. 12  c. 54  d. 76  e. tpil njhpatpy;iy 

 
58. ____ and ___ bands are used for transmission of TV programmes. 

a. THF, VHF   b. THF, UHF   c. SHF, VHF 
d. VHF, UHF   e. Answer not known 
_____ kw;Wk; _____ miythpirapy; TV epfo;r;rpfs; xspgug;ggLfpwJ. 
a. THF, VHF   b. THF, UHF   c. SHF, VHF 
d. VHF, UHF   e. tpil njhpatpy;iy 
 

59. Name the network project of the Indian Council of Agriculture Research (ICAR) that aims 
to enhance the resilience of Indian Agricultural to climate change through strategic 
research and technology demonstratican is 
a. ICMSR   b. ICRISAT    c. NICRA  
d. CDRI   e. Answer not known 
,e;jpa Ntshz;ik Muha;r;rp fofkhdJ (ICAR) ,e;jpa Ntshz;ikia fhyepiy 
khWghLfs; Nghd;w fhuzpfspypUe;J kPl;nlLg;gjw;fhf epiyahd Ma;T> nray;El;gk; 
kw;Wk; njhopy;El;gk; Mfpatw;wpw;fhf Vw;gLj;jpAs;s njhlh; jpl;lkhdJ. 
a. ICMSR   b. ICRISAT    c. NICRA  
d. CDRI   e. tpil njhpatpy;iy 

 
60. In which state of India Tulip flower festival is being celebrated? 

a. Himachal Pradesh  b. Jammu-Kashmir  c. Kerala 
d. Manipur    e. Answer not known 
,e;jpahtpd; ve;j khepyj;jpy; Jypg; kyh;j;jpUtpoh nfhz;lhlg;gl;L tUfpwJ? 
a. `pkhr;ryg; gpuNjrk;  b. [k;K-fh~;kPh;  c. Nfush 
d. kzpg;G+h;    e. tpil njhpatpy;iy 

 
61. Match correctly the specific species conservation projects with their corresponding 

places: 
A. Project Cheetah   1. Barda Wildlife Sanctuary 
B. Project Sanjeevani  2. Desert National Park 
C. Project Lion   3. Kuno National Park 
D. Project Great Indian Bustard 4. Himachal Pradesh 
 A B C D 
a. 4 2 3 1 
b. 3 4 1 2 
c. 2 3 4 1 
d. 3 1 2 4 
e. Answer not known 
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Fwpg;gpl;l ,dq;fspd; ghJfhg;Gj; jpl;lq;fis mtw;wpw;Fj; njhlh;Gila ,lq;fSld; 
rhpahfg; nghUj;jTk;: 
A. rpWj;ij jpl;lk;   1. gh;jh tdtpyq;F ruzhyak; 
B. rQ;rPtdp jpl;lk;   2. ghiytd Njrpag; G+q;fh 
C. rpq;fk; jpl;lk;   3. FNdh Njrpag; G+q;fh 
D. fhdkapy; jpl;lk;   4. ,khr;ryg; gpuNjrk; 
 A B C D 
a. 4 2 3 1 
b. 3 4 1 2 
c. 2 3 4 1 
d. 3 1 2 4 
e. tpil njhpatpy;iy 

 
62. In order to get the status of registered political party, all political parties have to conduct 

periodic and regular election to all positions of office-bearers and organs of the party at 
least once in  
a. 4 years   b. 5 years   c. 8 years 
d. 10 years   e. Answer not known 
,e;jpa Njh;jy; Mizaj;jplk; gjpThpik ngw;w murpay; fl;rp vDk; mq;fPfhuj;ijg; 
ngWtjw;fhf xt;nthU murpay; fl;rpAk; fl;rpapd; midj;J kl;lg; 
nghWg;ghsh;fSf;fhdj; Njh;jiyj; njhlh;r;rpahfj; jtwhky; Fiwe;jJ vj;jid 
Mz;LfSf;F xU KiwahtJ elj;j Ntz;Lk;. 
a. 4 Mz;Lfs;  b. 5 Mz;Lfs;  c. 8 Mz;Lfs; 
d. 10 Mz;Lfs;  e. tpil njhpatpy;iy 
 

63. The Central Government is the provide free food grains to under the National Food 
Security Act in the total number of beneficiaries in January – 2023 
a. 81.35 crore   b. 80.50 crore   c. 100 crore 
d. 90.60 crore   e. Answer not known 
2023> [dthpapy; nkhj;j gadhspfspd; vz;zpf;ifapy; Njrpa czTg; ghJfhg;Gr; 
rl;lj;jpd; fPo; ,ytr czT jhdpaq;fis kj;jpa muR toq;fpaJ 
a. 81.35 Nfhb  b. 80.50 Nfhb  c. 100 Nfhb 
d. 90.60 Nfhb  e. tpil njhpatpy;iy 

 
64. Which of the following is NOT found in Indian Navy’s new ensign ‘Nishaan’? 

a. Royal Seal of Chhatrapathi Sivaji    b. National flag 
c. National Emblem       d. St. George’s Cross 
e. Answer not known 
gpd;tUtdtw;Ws; vJ ,e;jpa flw;gilapd; Gjpa milahsr;rpd;dkhd ep~hdpy; 
fhzg;gltpy;iy? 
a. rj;ugjp rpth[papd; uh[Kj;jpiu b. Njrpaf; nfhb  c. Njrpar; rpd;dk; 
d. Gdpj [hh;[; rpYit   e. tpil njhpatpy;iy 

 
65. _____ intended to support women affected by violence, in private and public spaces, 

within the family, community and at the work place. 
a. Community Centre     b. One stop crisis centre 

c. Short stay home      d. Shelter home 
e. Answer not known 
____ td;Kiwahy; ghjpf;fg;gl;l ngz;fSf;F jdpahh; kw;Wk; nghJ ,lq;fspy; FLk;gk;> 
r%fk; kw;Wk; gzpaplj;jpy; Mjutspf;Fk; Nehf;fk; nfhz;lJ. 
a. r%f ikak;     b. xU epWj;j neUf;fb ikak; 
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c. FWfpa jq;Fk; tPL    d. jq;Fkplk; 
e. tpil njhpatpy;iy 

 
66. Who modified the climatic divisions of Stamp and Kendrew on the basis of variations in 

the temperature? 
a. Koppen W    b. Singh R.L.   c. Thornthuwaite C.W. 
d. Trewartha G.T.   e. Answer not known 
nfd;l;& kw;Wk; ];lhk;g; mth;fspd; fhyepiy tifghl;il ntg;gepiy NtWghl;bid 
mbg;gilahff; nfhz;L khw;wpaikj;jth; ahh;? 
a. Nfhg;gd; W   b. rpq; R.L.   c. jhe;Jitj; C.W. 
d. jphpthh;j;jh G.T.  e. tpil njhpatpy;iy 

 
67. Which one of the following development strategy is used for the Minimum Need 

Programme? 
a. Nagpur Plan  b. Twenty – Year Road Plan c. Rural Development 
d. Central Road Fund e. Answer not known 
Fiwe;jgl;r Njit jpl;lj;jpw;F gpd;tUk; tsh;r;rp cj;jpfspy; xd;W gad;gLj;jg;gLfpwJ 
a. ehf;G+h; jpl;lk;     b. ,UgJ Mz;L rhiyj; jpl;lk; 
c. fpuhk tsh;r;rpj; jpl;lk;    d. kj;jpa rhiy epjp 
e. tpil njhpatpy;iy 

 
68. Which type of forests are found in the deltas of Mahanadi, Godavari and Krishna rivers? 

a. Mangrove forests   b. Coastal forests  c. Alpine forests 
d. Reverine forest   e. Answer not known 
kfhejp> Nfhjhthp kw;Wk; fpU~;zh ejpfspd; fopKfq;fspy; fhzg;gLk; fhLfspd; tif 
vJ? 
a. rJg;Gepy fhLfs;   b. flNyhu fhLfs;  c. My;igd; fhLfs; 
d. ejp fhLfs;   e. tpil njhpatpy;iy 

 
69. Which river flows towards the west in India? 

a. Sindhu b. Ganga c. Narmadha  d. Cauvery e. Answer not known 
,e;jpahtpy; ve;j MW Nkw;F Nehf;fpg; gha;fpd;wJ? 
a. rpe;J b. fq;fh c. eh;kjh c. fhNthp e. tpil njhpatpy;iy 
 

70. Non-renewable sources of energy and renewable sources of energy come under the 
ministry of 
a. Non-Convention Energy, India   
b. Environment, Forest and Climate change (GOI) 
c. Coal and Petroleum, India 
d. Conventional energy, India 
e. Answer not known 
(kuGrhuh) GJg;gpf;fg;gl;l Mw;wy; kw;Wk; GJgpf;fapayhj (kuGrhh;) Mw;wy; tsq;fs; ve;j 
mikr;rfj;jpd; fPo;tUk;? 
a. kuGrhuh Mw;wy;> ,e;jpah   
b. Rw;Wr;#oy;> tdk; kw;Wk; gUtepiy khw;wk; - ,e;jpa muR 
c. epyf;fhp kw;Wk; ngl;Nuhypak; ,e;jpah 
d. kuGrhh; Mw;wy; - ,e;jpah 
e. tpil njhpatpy;iy 
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71. During the rule of the Khalji dynasty, the merchants had to bring all their goods for sale 
to  
a. Sarai-e-Adl  b. Karkhana   c. Kotwal 
d. Iqta    e. Answer not known 
fpy;[p tk;r Ml;rpapy; tzpfh;fs; jhq;fs; tpw;gid nra;Ak; nghUl;fis ____ ,lj;jpw;F 
nfhz;L tuNtz;Lk;. 
a. ]uha; mby;  b. fh;fhdh   c. nfhj;thy; 
d. ,f;jh   e. tpil njhpatpy;iy 

 
72. ____ the ruler of Vijayangar constructed a huge dam on the river Tungabhadra. 

a. Harihara – II   b. Bukka – II   c. Virupaksa – II 
d. Devaraya – II   e. Answer not known 
_____> tp[a efu kd;dh; Ml;rpapy; Jq;fgj;uh Mw;wpy; xU nghpa miziaf; fl;bdhh;. 
a. ,uz;lhk; `hp`uh  b. ,uz;lhk; Gf;fh;  c. ,uz;lhk; tpUghf;~h 
d. ,uz;lhk; Njtuhah  e. tpil njhpatpy;iy 
 

73. Which of the following is true about the finance and revenue system under Shivaji? 
(i) The Chauth and the Sardeshmukhi 
(ii) Village officials were Deshmuks and Patil’s 
(iii) The Revenue Officer appointed by Shivaji was called Karkuns 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only 
d. (ii) and (iii) only  e. Answer not known 
rpth[papd; fPo; cs;s epjp kw;Wk; tUtha; mikg;Gfspy; gpd;tUtdtw;wpy; vJ cz;ik? 
(i) nrsj; kw;Wk; rh;Nj~;Kfp 
(ii) Nj~;Kf; kw;Wk; ghl;By;fs; fpuhk mjpfhhpfs; 
(iii) rpth[papdhy; epakpf;fg;gl;l tUtha; mjpfhhpf;F fw;Fd;> vd;W ngah; 
a. (i) kl;LNk   b. (i) kw;Wk; (iii) kl;LNk c. (i) kw;Wk; (ii) kl;LNk 
d. (ii) kw;Wk; (iii) kl;LNk e. tpil njhpatpy;iy 
 

74. Which of the following are correctly paired? 
1. Abul Qasim Khan Namkin – Munshat-i-Namkin 
2. Inayatullah Khan – Kalimat–i–Tayyakat 
3. Muhammed Sadiq – Nigarnama-i-Munshi 
4. Malikzada – Adam-i-Alamgiri 
a. 1 and 2 are correct  b. 1 and 3 are correct c. 2 and 4 are correct 
d. 3 and 4 are correct  e. Answer not known 
gpd;tUtdtw;Ws; rhpahfg; nghUj;jg;gl;lit vit? 
1. mGy; fhrpk;fhd; ek;fpd; - Kd;~hj;-,-ek;fpd; 
2. ,zaj;Jy;yh fhd; - fypkj;-,-ijahfj; 
3. Kfk;kJ rhjpf; - epfh;ehkh-,-Kd;~p 
4. khypf;[lh – Mlk;-,-Myk;fphp 
a. 1 kw;Wk; 2 rhp   b. 1 kw;Wk; 3 rhp  c. 2 kw;Wk; 4 rhp 
d. 3 kw;Wk; 4 rhp   e. tpil njhpatpy;iy 
 

75. On behalf of Mughal Emperor Aurangzeb who signed the treaty of Purandhar with 
Shivaji? 
a. Mansingh    b. Jai Singh   c. Shaista Khan 
d. Afzal Khan   e. Answer not known 
Kfyhag; Nguurh; xsuq;frPg;gpw;F gjpyhf Gue;jh; cld;gbf;ifapy; rpth[pNahL 
ifnaOj;jpl;lJ ahh;? 
a. khd;rpq;    b. n[a;rpq;   c. ~ap];jh fhd; 
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d. m/g;]y; fhd;   e. tpil njhpatpy;iy 
 
76. In A.D. 1891, the Dravida Mahajana Sabha was founded and organized its first conference 

at 
a. Madurai    b. Salem   c. Nilgiris 
d. Chengalpattu   e. Answer not known 
fp.gp. 1891 ,y; epWtg;gl;l jpuhtpl kfh[d rig mjd; Kjy; khehl;il ____y; elj;jpaJ. 
a. kJiu    b. Nryk;   c. ePyfphp 
d. nrq;fy;gl;L   e. tpil njhpatpy;iy 
 

77. Which of the following statements is true about the Vijayanagar Empire? 
(i) Sea Trade was ignored 
(ii) The Famous Persian Ambassador Abdur Razzaq was invited by Devarayar II 
(iii) Vijayanagar Kingdom was founded by Harihara I 
(iv) Vijayanagar forces were defeated by Bahmani armies 
a. (ii) and (iv)    b. (i) and (ii)   c. (ii) and (iii) 
d. (i) and (iv)    e. Answer not known 
tp[aefug; NguuR gw;wpa gpd;tUk; $w;Wfspy; rhpahdit vit? 
(i) fly; th;j;jfk; Gwf;fzpf;fg;gl;lJ. 
(ii) Gfo;ngw;w ngh;rpad; J}Jth; mg;Jy; urhf;if ,uz;lhk; Njtuhah; jdJ murigf;F 

mioj;jhh; 
(iii) tp[aefug; NguuR Kjyhk; `hp`uuhy; epWtg;gl;lJ. 
a. (ii) kw;Wk; (iv)   b. (i) kw;Wk; (ii)  c. (ii) kw;Wk; (iii)   
d. (i) kw;Wk; (iv)   e. tpil njhpatpy;iy 
 

78. Point out the wrong statement of the following: 
I. The Indus Seals have not been deciphered so far. 
II. Indus civilization was a notable urban culture. 
III. Indus people used large number of weights. 
IV. Indus people knew the art of using the metal iron. 
a. I  b. II  c. III  d. IV  e. Answer not known 
gpd;tUtdtw;Ws; jtwhd fUj;ij Fwpg;gpLf: 
I. rpe;J Kj;jpiufs; ,Jtiu KOikahf Ghpe;J nfhs;s Kbatpy;iy 
II. rpe;J rkntsp ehfhpfk; xU Fwpg;gplj;jf;f efu fyhr;rhuk; MFk;. 
III. rpe;J rkntsp kf;fs; mjpf mstpyhd msit Kiwfis gad;gLj;jpdh;. 
IV. rpe;J rkntsp kf;fs; ,Uk;ig gad;gLj;Jk; fiyia mwpe;jpUe;jdh;. 
a. I  b. II  c. III  d. IV  e. tpil njhpatpy;iy 
 

79. Read the following passage and answer the item that follows. Your answers to this item 
should be based on the passage only: 
Corruption in India is basically Politico-Administrative. It pervades both the political and 
the administrative levels in government. It runs deep, is well organized and systematic. 
Secondly it often emanates at the top political and administrative levels. This top level 
involvement makes it’s eradication nearly impossible. According to the passage what is 
the reason for impossibility of eradication of corruption. 
a. Corruption prevails in India 
b. Corruption is found both in Administration and in politics 
c. Corruption is systematic and deep rooted 
d. Corruption deeply rooted out the Higher Levels of the Administration and Politics 
e. Answer not known 
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mbg;gilapy; Coy; vd;gJ ,e;jpahtpd; murpay; eph;thfkhfj; jd;ikahfptpl;lJ. Coy; 
vd;gJ gy;NtW gbepiyfspYk; xU Kiwg;gLj;jg;gl;l jd;ikNahL murhq;fj;jpd; 
eph;thfj;jpYk; murpaypYk; kpf Mokhfg; gutp tpl;lJ. ,uz;lhtjhf ,e;j Coy; vd;gJ 
Nky;kl;l murpaypYk; eph;thfj;jpYk; epiwe;jpUf;fpwJ. ,g;gb Nky; kl;lj;jpYk; Coy; 
epiwe;jpUg;gjhy; mjid xopg;gJ eilKiw rhj;jpakpy;yhj xd;whfp tpl;lJ. Nky; cs;s 
gj;jpapd;gb> Coiy xopg;gJ Kbahj xd;whf ,Ug;gjw;fhd fhuzk; vd;d? 
a. Coy; ,e;jpahtpy; nray;gLfpwJ 
b. Coy; eph;thfk; kw;Wk; murpay; epiyfspy; nray;gLfpwJ. 
c. Coy; MokhfTk; KiwahfTk; cs;sJ. 
d. Coy; eph;thf kw;Wk; murpay; Nky; epiyfspy; MokhJ Nth; Cd;wpAs;sJ 
e. tpil njhpatpy;iy 
 

80. Consider the following statements: 
The concepts of “Separation of Power” and Independent Judiciary” were upheld by the 
Supreme Court in the case of 
a. State of Bihar Vs Bal Mukund, Sah b. Minerva Mill Vs Union of India 
c. Indira Gandhi Vs Raj Narain  d. Dharward Employees Vs State of Karnataka 
e. Answer not known 
mjpfhug; gphptpid kw;Wk; Rje;jpukhd ePjpj;Jiw vd;w fUj;Jf;fis cr;r ePjpkd;wk; 
cah;j;jpg; gpbj;j tof;F. 
a. gPfhh; khepy muR Vs ghy; KFe;J ~h  
b. kpdh;th kpy; epWtdk; Vs ,e;jpa xd;wpak; 
c. ,e;jpuh fhe;jp Vs uh[; ehuhad; 
d. jhh;thL njhopyhsh;fs; Vs fh;ehlf khepy muR 
e. tpil njhpatpy;iy 
 

81. Who was the Chairman of the Second Commission on centre-state Relations? 
a. Madan Mohan Punchhi  b. R.S. Sarkaria  c. Morarji Desai 
d. P.V. Raja Mannar   e. Answer not known 
kj;jpa-khepy cwTfSf;fhd ,uz;lhtJ FOtpd; jiyth; ahh;? 
a. kjd; Nkhfd; G+d;rp  b. Mh;.v];. rh;f;fhhpah c. nkhuhh;[p Njrha; 
d. gp.tp. uh[kd;dhh;   e. tpil njhpatpy;iy 
 

82. Choose the correct states from the following which have upper house in the State 
Legislature 
a. Bihar, U.P., Maharashtra, Jammu an Kashmir, Karnataka, Andrapradesh, 

Telangana 
b. Rajasthan, Hariyana, Assam, M.P., Kerala, Orissa 
c. Gujarat, Nagaland, Punjab, West Bengal, Manipur 
d. Tripura, Himachal Pradesh, Meghalaya, Sikkim, Mizoram 
e. Answer not known 
fPo;tUtdtw;Ws; khepy rl;lkd;wj;jpy; Nkyitia nfhz;Ls;s khepyq;fis njhpe;njLf. 
a.  gPfhh;> cj;jpugpuNjrk;> kfhuh~;buh> [k;K kw;Wk; fh~;kPh;> fhe;hlfh> Me;jpugpuNjrk;> 

njYq;fhdh 
b. uh[];jhd;> `hpahdh> mrhk;> kj;jpagpuNjrk;> Nfush> xhprh 
c. F[uhj;> ehfhyhe;J> gQ;rhg;> Nkw;F tq;fhsk;> kzpg;G+h; 
d. jphpGuh> ,khr;ry gpuNjrk;> Nkfhiyah> rpf;fpk;> kpNrhuk; 
e. tpil njhpatpy;iy 
 

83. Who Presides over the joint sitting of the parliament? 
a. Speaker of the Lok Sabha   b. Deputy Speaker of the Lok Sabha 
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c. Chairman of the Rajya Sabha   d. President of India 
e. Answer not known 
ehlhSkd;w $l;L $l;lj; njhliu jiyikNaw;W elj;Jgth; ahh;? 
a. kf;fsit rgh ehafh;    b. kf;fsit Jiz rghehafh; 
c. khepyq;fsit jiyth;    d. ,e;jpa FbauRj; jiyth; 
e. tpil njhpatpy;iy 
 

84. Which of the following Articles says that the Directive Principles cannot be enforceable 
by any court? 
a. Article 37    b. Article 38   c. Article 39 
d. Article 40    e. Answer not known 
muR topfhl;L newpKiwfis ePjpkd;wk; %yk; nray;gLj;j KbahJ vd njhptpf;Fk; 
murpayikg;G ~uj;J ahJ? 
a. ~uj;J 37    b. ~uj;J 38   c. ~uj;J 39 
d. ~uj;J 40    e. tpil njhpatpy;iy 
 

85. In an Emergency the fundamental rights of citizens 
a. May be suspended 
b. Stand automatically suspended 
c. Can be enjoyed approval of the Supreme Court 
d. Can be enjoyed with the approval of the High Court 
e. Answer not known 
mtru epiyapy; kf;fspd; mbg;gil chpikfs; 
a. epWj;jp itf;fg;gLk; 
b. jhdhfNt epd;W tpLk; 
c. jiyik ePjpkd;w xg;Gjypd; Nghpy; mDgtpf;fyhk; 
d. cah;ePjpkd;w xg;Gjypd; Nghpd; mDgtpf;fyhk; 
e. tpil njhpatpy;iy 
 

86. Assertion [A]: The Constituent Assembly was elected by indirect election by the 
    members of the Provincial Legislative Assemblies. 
Reason [R]:  Members of each community in the Provincial Legislative 
    Assemblies elect their representatives by the method of proportional 
    representation by single transferable vote. 
Choose the correct option from below: 
a. [A] and [R] are true and [R] is the correct explanation for [A]. 
b. [A] is true but [R] is false 
c. [A] and [R] are true but [R] is not the correct explanation for [A] 
d. [A] is false and [R] is true 
e. Answer not known 
$w;W [A]: murpay; rhrd eph;za rigia> khepy rl;lkd;wj;jpd; cWg;gpdh;fs; 
   kiwKfkhf Njh;e;njLf;fpwhh;fs;. 
fhuzk; [R]: khepy rl;l kd;wj;jpd; xt;nthU rKjhaKk; jd; cWg;gpdh;fis xw;iw 
   khw;wj;jf;f tpfpjhr;rhu thf;F Kiwapy; Njh;T nra;fpwhh;fs;. 
fPo;fz;ltw;wpy; rhpahd tpilia Njh;e;njLf;fTk;: 
a. [A] kw;Wk; [R] rhp kw;Wk; [R], [A]tpd; rhpahd fhuzp jhd; 
b. [A] rhp Mdhy; [R] jtW 
c. [A] kw;Wk; [R] rhp Mdhy; [R], [A]tpd; rhpahd fhuzp my;y 
d. [A] jtW Mdhy; [R] rhp 
e. tpil njhpatpy;iy 
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87. Which scheme was launched by the Government of India to connect more and more 

peoples from the banking services? 
a. Make in India  b. Skill India Mission c. PM Mudra Yojana 
d. PM Jan Dhan Yojana e. Answer not known 
tq;fp Nritapy; mjpfkhdth;fis ,izf;f ,e;jpa muR ,e;j jpl;lj;ij 
mwpKfg;gLj;jpaJ 
a. Nkf; ,d; ,e;jpah    b. ];fpy; ,e;jpah kp~d;  
c. gpujhd ke;jphp Kj;uh Nah[dh   d. gpuhjhd ke;jphp [d; jd; Nah[dh 
e. tpil njhpatpy;iy 
 

88. Why the Reserve Bank of India is called the Lender of last resort? 
(i) It private the currency notes 
(ii) It mints the coin 
(iii) At times of crisis, it is the only source capable of lending for commercial bank 
(iv) At times of crisis, Banks lend to Reserve Bank 
a. (i) and (ii)    b. (iii) and (iv)  c. (iii) only 
d. (iv) only    e. Answer not known 
,e;jpa hprh;t; tq;fpapid Vd; filrp epiyf;fld; <Nthd; vd miof;fpNwhk;. 
(i) fhfpj gzj;ij mr;rbj;jy; 
(ii) ehzaq;fis mr;rbj;jy; 
(iii) ,f;fl;lhd #oypy;> tzpf tq;fpfs; hprh;t; tq;fpaplk; kl;LNk fld; ngw ,aYk;. 
(iv) ,f;fl;lhd #oypy;> hp]h;t; tq;fpf;F tq;fpfs; fld; toq;Ffpd;wd. 
a. (i) kw;Wk; (ii)   b. (iii) kw;Wk; (iv)  c. (iii) kl;Lk; 
d. (iv) kl;Lk;    e. tpil njhpatpy;iy 
 

89. Which of the following is a Refinance Institution? 
a. Life Insurance Corporation of India 
b. Unit trust of India 
c. National Bank for Agriculture and Rural Development 
d. State Financial Corporation 
e. Answer not known 
,q;F Fwpg;gplg;gl;Ls;sitfspy; kW epjpahf;f epWtdq;fs; ahit? 
a.  ,e;jpa MAs; fhg;gPl;Lf; fofk; 
b. ,e;jpa A+dpl; bu];l; 
c. Njrpa Ntshz;ik kw;Wk; Cuf tsh;r;rp tq;fp 
d. khepy epjpf; fofq;fs; 
e. tpil njhpatpy;iy 
 

90. Match the following: 
A. Indirect tax   1. Canon of Elasticity 
B. Bonds and Securities  2. Principle of Accountability 
C. Direct tax    3. Custom duty 
D. Federal Finance   4. Internal Public debt 
 A B C D 
a. 3 2 1 4 
b. 4 3 2 1 
c. 3 4 1 2 
d. 1 3 4 2 
e. Answer not known 
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gpd;tUtdtw;iw nghUj;Jf: 
A. kiwKf thp    1. nefpOk; jd;ik tpjp 
B. muR gj;jpuq;fs; kw;Wk; Mtzq;fs; 2. nghWg;Ngw;g;G 
C. Neh;Kf thp    3. Rq;f thp 
D. $l;likg;G epjp    4. cs;ehl;L nghJf;fld; 
 A B C D 
a. 3 2 1 4 
b. 4 3 2 1 
c. 3 4 1 2 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

91. Which one of the following plan was used in Tenth Five Year Plan? 
a. Reform plan   b. Resource plan  c. Rolling plan 
d. National plan   e. Answer not known 
fPNo fhzg;gLk; jpl;lq;fspy; ve;j jpl;lk; gj;jhtJ Ie;jhz;L jpl;lj;jpy; 
gad;gLj;jg;gl;lJ? 
a. rPh;jpUj;j jpl;lk;   b. tsj; jpl;lk;  c. RoYk; jpl;lk; 
d. Njrpa jpl;lk;   e. tpil njhpatpy;iy 
 

92. The source of non-tax revenue are 
a. Commercial Revenues and Public Administrative Revenues 
b. Income Tax and Corporate Income Tax 
c. Death duty 
d. Excise duty 
e. Answer not known 
thprhuh tUthapd; Mjhuq;fshtd 
a. tzpf tUtha; kw;Wk; nghJ Jiw Nkw;ghh;it tUtha; 
b. tUkhd thp kw;Wk; ngUe; epWtdq;fspd; tUkhd thp 
c. kuz thp 
d. fyhy; thp 
e. tpil njhpatpy;iy 
 

93. “Public Private Partnership (PPP) model is emerging as a rule for future development of 
Infrastructure” – is the objective of 
a. Finance Commission  b. Niti Aayog  c. Labour Commission 
d. Planning Commission  e. Answer not known 
“vjph;fhy tsh;r;rpf;fhd fl;likg;Gfis nghJj;Jiw – jdpahh; Jiw ,uz;Lk; ,ize;J 
nray;gl;lhy; kl;LNk tsh;r;rp mila ,aYk;” vd;gJ ____ Nehf;fkhFk;. 
a. epjpf;FO    b. epjp MNahf;  c. njhopyhsh; Mizak; 
d. jpl;lf;FO    e. tpil njhpatpy;iy 
 

94. The theory of Pakistan was inspired by 
a. Muhammad Ali Jinnah     b. Sir Syed Ahamad Khan 
c. Muhamad Iqbal      d. Maulane Abdulkalam Azad 
e. Answer not known 
ghfp];jhd; gphptpid Nfhl;ghl;il Kjd; Kjypy; $wpath; 
a. KfkJ myp [pd;dh  b. rh; iraJ mfkJfhd;  c. Kfk;kJ ,f;ghy; 
d. nksyhdh mGy;fyhk; Mrhj; e. tpil njhpatpy;iy 
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95. Match the following: 
A. Chittagang Armed Ride  1. M.N. Roy 
B. Kanpur Conspiracy case  2. Benjamin Bradley 
C. Lahore Conspiracy case  3. Kalpana Datta 
D. Meerut Conspiracy case  4. Bhagat Singh 
 A B C D 
a. 4 3 2 1 
b. 3 1 4 2 
c. 2 4 3 1 
d. 1 2 4 3 
e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf: 
A. rpl;lq; MAjg; giljhf;F  1. M.N. uha; 
B. fhd;G+h; rjp tof;F   2. ngQ;rkpd; g;uhl;yp 
C. yh$h; rjp tof;F   3. fy;gdh jj;jh 
D. kPul; rjp tof;F    4. gfj;rpq; 
 A B C D 
a. 4 3 2 1 
b. 3 1 4 2 
c. 2 4 3 1 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

96. “With the death of Mr. Jawaharlal Nehru India and the whole mankind had lost an 
eminent statesmen who was held in esteem throughout the world as leader in the 
struggle for peace and international understanding”. Who said this? 
a. Dr. Radha Krishnan     b. Dwight D. Eisenhower 
c. Dr. Heinrich Lubake     d. Duke of Devonshire 
e. Answer not known 
[t`h;yhypd; ,wg;G ,e;jpah kl;Lky;yhJ xl;L nkhj;j kdpj rKjhak; Xh; xg;gw;w ,uh[ 
je;jphpia ,oe;jJk; mth; Rje;jpuj;jpw;fhd Nghuhl;lj;jpYk; kw;Wk; cyfshtpa 
GhpjYf;fhf nghpJk; kjpf;fg;gl;lth; vd ahh; $wpaJ? 
a. Dr. ,uhjh fpU~;zd;     b. l;tpl; D. I];Ndhth; 
c. Dr. n`d;hpf; Yghf;     d. NlNthd;~ahpd; Nfhkhd; 
e. tpil njhpatpy;iy 
 

97. Which one of the following is the earliest organised labour agitation against British 
Government in India? 
a. Champaran Movement    b. Mill Workers Strike at Ahmadabad 
c. The Coral Mill Strike    d. The Kheda Struggle 
e. Answer not known 
fPo;fz;ltw;wpy; ,e;jpahtpy; Mq;fpy murpw;F vjpuhf jpl;lkpl;L elj;jg;gl;l 
njhopyhsh;fspd; Kjy; Ntiy epWj;jq;fspy; xd;whFk;. 
a. rk;guhd; ,af;fk;    b. mfkjhghj; kpy; njhopyhsh; Ntiy epWj;jk; 
c. Nfhuy; E}w;ghiy Ntiy epWj;jk; d. Nfjh ,af;fk; 
e. tpil njhpatpy;iy 
 

98.   “A day will drawn when the Indians will have to follow the Maharashtrian way for the 
regaining of freedom. They will have to copy the example of Great Shivaji”. Who said it? 
a. Bal Gangadar Tilak  b. C.R. Das  c. Subash Chandra Bose 
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d. Chandra Shekhar Azad  e. Answer not known 
“xU ehs; gpwf;Fk;> ,e;jpah;fs; jq;fs; Rje;jpuj;ij kPl;nlLf;f k`uh~;buh;fspd; topia 
Njh;e;njLg;gh;. mth;fs; tPu rpth[papd; topia gpd;gw;Wthh;fs;” vd;W $wpaJ ahh;? 
a. ghy fq;fhjh; jpyfh;  b. C.R. jh];  c. Rgh~; re;jpu Ngh]; 
d. re;jpu Nrfh; Mrhjp  e. tpil njhpatpy;iy 
 

99. “British imperialism in India gave her a political unity under a third party in spite of the 
many discordant elements in Indian Society”. Who said the above statement? 
a. Prof. Moon   b. Monier-Williams  c. Colebrooks 
d. M.G. Ranade   e. Answer not known 
“,e;jpa rKjhaj;jpy epytpa gy;NtW Kuz;gl;l rf;jpfSf;F mg;ghYk; Mq;fpNyahpd; 
Vfhjpgj;jpak; ,e;jpahtpw;F Xh; murpay; xw;Wikia mspj;jJ” ,jid $wpaJ ahh;? 
a. Nguhrphpah;> %d;   b. Nkhdpah;-tpy;ypak;]; c. Nfhy;g;&f;]; 
d. M.G. uhzNl   e. tpil njhpatpy;iy 
 

100. Name the social reformer who submitted a memorial for the free press in the Supreme 
Court? 
a. M.G. Ranade   b. Raja Ram Mohan Roy c. Jothiba Phule 
d. Ishwar Chandra Vidyasagar e. Answer not known 
gj;jphpf;if Rje;jpuk; Ntz;b cr;r ePjpkd;wj;jpy; Xh; kDit jhf;fy; nra;j r%f 
rPh;jpUj;jthjp ahh;? 
a. M.G. uhzNl     b. ,uh[h uhk; Nkhfd; uha; 
c. N[hjpgh G+Ny     d. <];tu re;jpu tpj;ahrhfh; 
e. tpil njhpatpy;iy 

 


